
 1 Library 

General Knowledge 
  

 

1. The following were the rulers of the Soma dynasty of Kanker region of 
Chhattisgarh : 

 (i) Yashoraj  (ii) Karnaraj (iii) Laxmanraj (iv) Somraj 
 Select the correct answer : 
 (A) (i), (ii)   (B) (ii), (iii) 
 (C) (i), (iii)   (D) (ii), (iv) 

 छƣीसगढ़ के कांकेर ¢ेğ मɅ सोमवंश का शासन था, ǔजसके िनàनिलǔखत शासक थ े: 
 (i) यशोराज (ii) कण[राज (iii) लêमणराज (iv) सोमराज 
 सहȣ उƣर चिुनए : 
 (A) (i), (ii)   (B) (ii), (iii) 
 (C) (i), (iii)   (D) (ii), (iv) 

 

2. Match the following (British Superintendents posted in Chhattisgarh during 
British Protectorate period and events) : 

LIST – I 
(Superintendents)  

LIST – II  
(Events) 

(A) Capt. Edmunds  (1) Dispute between Bastar and Karod states     
(B) P. Vans Agnews  (2) Transfer of capital from Ratanpur to Raipur   
(C) Mr. Sandis (3) Transfer of administration of C.G. to Marathas  
(D) Mr. Crawfurd  (4) Revolt of the zamindar of Dongergaon  

 Select the correct answer : 
 (A) A-1, B-4, C-3, D-2  (B) A-2, B-3, C-4, D-1 
 (C) A-3, B-1, C-2, D-4  (D) A-4, B-2, C-1, D-3 

 सुमेिलत कȧǔजए (ǒĦǑटश संर¢ण काल मɅ छƣीसगढ़ मɅ पदèथ अĒेंज़ अधी¢क एवं 
घटनाएँ) : 

सूची – I  
(अधीƗक)  

सूची – II  
(घटनाएँ) 

(A) कैɐन एडमंड (1) बˑर और करौद įरयासतो ंके बीच िववाद 
(B) पी. वाɌ एưे̺स (2) रतनपुर से रायपुर राजधानी ̾थानाȶरण 
(C) िम. सेȵीस (3) छȅीसगढ़ के Ůशासन का मराठो ंको हˑांतरण 
(D) िम. ŢाफडŊ  (4) डोगंरगांव के जमीदंार का िवūोह 

  सही उȅर चुिनए :  
 (A) A-1, B-4, C-3, D-2  (B) A-2, B-3, C-4, D-1 
 (C) A-3, B-1, C-2, D-4  (D) A-4, B-2, C-1, D-3 
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3. Who of the following was imprisoned by police for denying to issue free 
entry pass to the Superintendent of Police in the District Political conference 
organized at Raipur on 23rd March, 1922 ? 

 (A) Pt. Ravi Shanker Shukla (B) Pt. Waman Rao Lakhe 
 (C) E. Raghvendra Rao (D) Seth Shivdas Daga 

 23 माच[, 1922 मɅ रायपुर मɅ आयोǔजत ǔजला राजनीितक सàमेलन मɅ पुिलस अधी¢क 
को मÝुत Ĥवेश पğ देने से इंकार करने पर पुिलस ने िनàनिलǔखत मɅ से Ǒकसे िगरÝतार 
Ǒकया था ? 

 (A) पं. रǒवशंकर शुÈल  (B) पं. वामनराव लाखे 
 (C) ई. राघवेÛġ राव   (D) सेठ िशवदास डागा 

 

4. Who of the following was the Deputy Commissioner of Raipur when the 
Zamindar of Sonakhan Narayan Singh revolted in 1857 ? 

 (A) Major Smith   (B) Charles Elliot 
 (C) Captain Wilkinson  (D) Major Sidwell 
 1857 मɅ सोनाखान के जमीदंार नारायणिसंह के ǒवġोह के समय रायपुर का ǑडÜटȣ 

किमưर िनàनिलǔखत मɅ से कौन था ? 
 (A) मेजर ǔèमथ   (B) चाãस[ इिलयट 
 (C) कैÜटन ǒवलǑकंसन  (D) मेजर िसडवेल 

 

5. Arjungarh cave is situated in 
 (A) Balrampur   (B) Dantewada 
 (C) Sarguja   (D) Konda gaon 

 अजु[नगढ़ कȧ गुफा ǔèथत है 
 (A) बलरामपुर   (B) दÛतेवाड़ा 
 (C) सरगुजा   (D) कोÖडागाँव 

 

6. Nandraj hill is situated 
 (A) Dantewada   (B) Narayanpur 
 (C) Bastar   (D) Kondagaon 

 नंदराज पहाड़ȣ ǔèथत है 
 (A) दÛतेवाड़ा   (B) नारायणपुर 
 (C) बèतर   (D) कोÖडागाँव 

 

7. The origin place of Eb river is 
 (A) Khurja Hill   (B) Ludeg Hill 
 (C) Camoor Hill   (D) Maikal Hill 
 ईब नदȣ का उɮ गम èथान है 
 (A) खरुजा पहाड़ȣ   (B) लूडेग पहाड़ȣ 
 (C) कैमूर पहाड़ȣ   (D) मैकल पहाड़ȣ 
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8. Shakambhari project is started in which year ? 
 (A) 2002-2003   (B) 2003-2004 
 (C) 2004-2005   (D) 2005-2006 

 शाकàभरȣ योजना कब Ĥारंभ कȧ गई ? 
 (A) 2002-2003   (B) 2003-2004 
 (C) 2004-2005   (D) 2005-2006 

 

9. When was Chhattisgarh tourism board constituted ? 
 (A) 8th January, 2002  (B) 18th January, 2002 
 (C) 8th January, 2003  (D) 18th January, 2003 

 छƣीसगढ़ पय[टन मÖडल का गठन कब Ǒकया गया ? 
 (A) 8 जनवरȣ, 2002  (B) 18 जनवरȣ, 2002 
 (C) 8 जनवरȣ, 2003  (D) 18 जनवरȣ, 2003 

 

10. Which of the following is largest sanctuary ? 
 (A) Pamed   (B) Barnawapara  
 (C) Achanakmar   (D) Bhairamgarh 

 िनàन मɅ से कौन सा सबसे बड़ा अभयारÖय है ? 
 (A) पामेड़   (B) बारनवापारा 
 (C) अचानकमार   (D) भैरमगढ़ 

 

11. Gold reserve is at 
 (A) Dhupkot   (B) Chhura 
 (C) Rajadevari   (D) Jangada 

 सोना के भÖडार हɇ 
 (A) धपूकोट   (B) छूरा 
 (C) राजादेवरȣ   (D) जांगड़ा 

 

12. Kerta is named for which industry ? 
 (A) Rice Bran Oil  (B) Sugar 
 (C) Cement   (D) Paper 
 केरता Ǒकस उƭोग के िलए जाना जाता है ? 
 (A) राइस Ħान ऑयल  (B) चीनी 
 (C) सीमेÛट   (D) कागज 

 

13. Who is the author of the book “Prachin Chhattisgarh” ? 
 (A) Dr. Baldev Prasad Mishra (B) Shri Pyarelal Gupta 
 (C) Dr. Pardeshi Ram Verma (D) Dr. Romila Thapar 
 “Ĥाचीन छƣीसगढ़” पुèतक के लेखक कौन हɇ ? 
 (A) डॉ. बलदेव Ĥसाद िमĮा (B) Įी Üयारेलाल गुƯ 
 (C) डॉ. परदेशी  राम वमा[  (D) डॉ. रोिमला थापर 
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14. Which among the following drama is written by Dr. Shankar Shesh, on 
which Hindi movie was made ? 

 (A) Raktbeej   (B) Ek aur Dronacharya 
 (C) Gharonda   (D) Kaljayi 
 िनàनिलǔखत मɅ से Ǒकस नाटक को डॉ. शंकर शेष Ʈारा िलखा गया है, ǔजस पर Ǒहंदȣ मɅ 

Ǒफãम बनाई गई है ? 
 (A) रƠबीज   (B) एक और ġोणाचाय[ 
 (C) घरɋदा   (D) कालजयी 

 

15. What do you understand by “Raigarh Gharana” ? 
 (A) Dhrupad Gayan Shailee (Style) 
 (B) Katthak Nritya Shailee (Style) 
 (C) Karma Nritya Shailee (Style) 
 (D) Sarhul Nritya Shailee (Style) 
 “रायगढ़ घराना” से आप Èया समझते हɇ ? 
 (A) Ģपुद - गायन – शैली  (B) क×थक - न×ृय – शैली 
 (C) करमा - न×ृय – शैली  (D) सरहुल - न×ृय - शैली 

 

16. On which festival ‘Sua-Nritya’ is performed in Chhattisgarh ? 
 (A) Holi   (B) Deepawali 
 (C) Chherchera   (D) Pola 

 छƣीसगढ़ मɅ ‘सुआ-न×ृय’ Ǒकस ×यौहार मɅ करते हɇ ? 
 (A) होली   (B) दȣपावली 
 (C) छेरछेरा   (D) पोला 

 

17. On which festival the farmers of Chhattisgarh decorate their bullocks ? 
 (A) Hareli   (B) Pola 
 (C) Gowardhan Pooja  (D) Holi 
 छƣीसगढ़ मɅ Ǒकस ×यौहार मɅ Ǒकसान अपने बैलɉ को सजाते हɇ ? 
 (A) हरेली   (B) पोला 
 (C) गोवध[न पूजा   (D) होली 

 

18. In which festival, women of Chhattisgarh sing the ‘Gaura-geet’ ? 
 (A) Pola   (B) Navratri 
 (C) Deepawali   (D) Holi 
 छƣीसगढ़ मɅ मǑहलाएँ Ǒकस ×यौहार मɅ ‘गौरा-गीत’ गाती हɇ ? 
 (A) पोला   (B) नवराǒğ 
 (C) दȣपावली   (D) होली 
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19. ‘Kurukh-dialect’ is spoken by which tribe of Chhattisgarh ? 
 (A) Kamar   (B) Kondh 
 (C) Oraon   (D) Gond 

 ‘कुडुख-बोली’ छƣीसगढ़ कȧ Ǒकस जनजाित Ʈारा बोली जाती है ? 
 (A) कमार   (B) कɉध 
 (C) उराँव   (D) गɉड 

 

20. Who performed “Bansgeet” ? 
 (A) Basdewa   (B) Raut 
 (C) Dewar   (D) Bansod 

 “बांसगीत” कौन गाते हɇ ? 
 (A) बसदेवा   (B) राऊत 
 (C) देवार   (D) बंसोड़ 

 

21. Padma Vibhushan Smt. Teejan Bai is famous for which art ? 
 (A) Bharthari – Gayan  (B) Chandeni – Gayan 
 (C) Pandwani – Gayan  (D) Jash – Gayan 

 पƬ ǒवभूषण Įीमती तीजनबाई Ǒकस कला के िलए Ĥिसƨ हɇ ? 
 (A) भरथरȣ – गायन  (B) चदैंनी – गायन 
 (C) पंडवानी – गायन  (D) जश – गायन 

 

22. ‘Singhanpur’ of Raigarh district is famous for 
 (A) Wood-craft   (B) Sculpture 
 (C) Cave paintings  (D) Katthak dance 

 रायगढ़ ǔजला का ‘िसंघनपुर’ Ĥिसƨ है 
 (A) काƵ-िशãप के िलए  (B) मूित[-कला के िलए 
 (C) शैल-िचğ के िलए  (D) क×थक न×ृय के िलए 

 

23. Freedom fighter of Chhattisgarh Shahid Veer Narayan Singh belong to 
which tribe ? 

 (A) Oraon   (B) Kanwar 
 (C) Gond   (D) Binjhwar 
 छƣीसगढ़ के èवतंğता-सĒंाम सेनानी शहȣद वीरनारायण िसंह Ǒकस जनजाित के थ े? 
 (A) उराँव   (B) कंवर 
 (C) गɉड   (D) ǒबंझवार 
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24. Who among the following tribes do ‘Bewara’ - cultivation ? 

 (A) Oraon   (B) Bhunjia 

 (C) Baiga   (D) Binjhwar 

 ‘बेवरा’ खेती करने वाली अनुसूिचत जनजाित िनàनिलǔखत मɅ से कौन है ? 

 (A) उराँव   (B) भुǔंजया 

 (C) बैगा   (D) ǒबंझवार 

 

25. On which festival farmers worshipped their agricultural equipments ? 

 (A) Deepawali   (B) Hareli 

 (C) Chherchera   (D) Akhati (Akti) 

 Ǒकस ×यौहार मɅ Ǒकसान उनके कृǒष-उपकरणɉ कȧ पूजा करते हɇ ? 

 (A) दȣपावली   (B) हरेली 

 (C) छेरछेरा   (D) अख ्ती (अक् ित) 

 

26. In which form is found the role of police organisation in Chhattisgarh ? 

 (i)  Staff Agency 

 (ii) Line Agency 

 (iii)  Board Agency 

 (iv)  Autonomous Agency 

 Choose the correct answer : 

 (A) (i)   (B) (i), (ii) 

 (C) (i), (ii), (iii)   (D) (i), (ii), (iii), (iv) 

 छƣीसगढ़ मɅ पुिलस संगठन कȧ भूिमका Ǒकस Ǿप मɅ पाई जाती है ? 
 (i)  èटाफ अिभकरण 
 (ii) लाइन अिभकरण 
 (iii)  मÖडल अिभकरण 
 (iv)  èवायƣ अिभकरण 
 सहȣ उƣर का चयन कȧǔजए : 

 (A) (i)   (B) (i), (ii) 

 (C) (i), (ii), (iii)   (D) (i), (ii), (iii), (iv) 
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27. Assertion (A) : No punishable proceedings can be established in any court 
during the tenure of its post against the Governor of a state. 

 Reason (R) : In the Constitution of India there is provision for such 
protection for the President of India and the Governor of states. 

 Choose the correct answer : 
 (A) Both (A) and (R) are true and (R) is the correct explanation of (A). 
 (B) Both (A) and (R) are true, but (R) is not correct explanation of (A). 
 (C) (A) is true, but (R) is false. 
 (D) (A) is false, but (R) is true. 

 कथन (A) : Ǒकसी राÏय के राÏयपाल के ǒवǽƨ उसकȧ पदाविध के दौरान Ǒकसी 
Ûयायालय मɅ कोई दंǑडक काय[वाहȣ èथाǒपत नहȣं कȧ जा सकती है । 

 कारण (R) : भारत के सǒंवधान मɅ भारत के राƶपित और राÏय के राÏयपाल के िलए 
ऐसे संर¢ण के िलए उपबंध हɇ । 

 सहȣ उƣर का चयन कȧǔजए : 

 (A) (A) और (R) दोनɉ सहȣ हɇ और (R), (A) कȧ सहȣ åयाÉया है । 

 (B) (A) और (R) दोनɉ सहȣ हɇ, परÛतु (R), (A) कȧ सहȣ åयाÉया नहȣं है । 

 (C) (A) सहȣ है, परÛतु (R) गलत है । 
 (D) (A) गलत है, परÛतु (R) सहȣ है । 

 

28. Who is matched in the context of Panchayati Raj Committee ? 
 (i)  Ashok Mehta 
 (ii)  Balwant Rai Mehta 
 (iii) Jubin Mehta 
 (iv)  Pratap Singh 
 (A) (i)   (B) (i), (ii) 
 (C) (i), (ii), (iii)   (D) (i), (ii), (iii), (iv) 

 पंचायती राज सिमित के संदभ[ मɅ कौन सुमेिलत है ? 
 (i)  अशोक मेहता 
 (ii)  बलवÛत राय मेहता 
 (iii)  जǒुबन मेहता 
 (iv)  Ĥताप िसंह 

 (A) (i)   (B) (i), (ii) 
 (C) (i), (ii), (iii)   (D) (i), (ii), (iii), (iv) 
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29. Which one among the following is not the function of the State government ? 
 (A) To assist the Minister in the formation of policy. 
 (B) To act as a channel of communication between one Government and 

another. 
 (C) To prepare drafts of legislation to be introduced in the Assembly. 
 (D) To assist the legislature in its secretariat work. 

 िनàनिलǔखत मɅ से कौन सा काय[ राÏय सरकार नहȣं करती है ? 

 (A) नीित िनमा[ण मɅ मğंी को सहायता करना । 

 (B) एक सरकार से दसूरे सरकार के मÚय संचार का माÚयम बनना । 

 (C) ǒवधानसभा मɅ कानून के Ĥèताव का ĤाǾप तैयार करना । 

 (D) ǒवधाियका के सिचवालयीन कायɟ मɅ सहायता करना । 

 

30. The ideal of ‘Welfare State’ in the Indian Constitution is enshrined in its 
 (A) Preamble 
 (B) Directive Principles of State Policy 
 (C) Fundamental Rights 
 (D) Seventh Schedule 

 भारतीय सǒंवधान मɅ ‘कãयाणकारȣ राÏय’ का आदश[ कहा ँĤितƵǒपत Ǒकया गया है ? 

 (A) सǒंवधान कȧ Ĥèतावना  

 (B) राÏय के नीित िनदȶशक त×व 

 (C) मौिलक अिधकार 

 (D) सातवीं अनुसूची मɅ 
 

31. A Chief Minister of state cannot vote in the election of the President because 
 (A) He himself is a candidate for the office of President. 
 (B) He is an acting Chief Minister. 
 (C) He is yet to prove his majority in state legislature. 
 (D) He is the member of upper house of state. 

 एक राÏय का मÉुयमंğी राƶपित के चनुाव मɅ मतदान नहȣं कर सकता, ÈयɉǑक 

 (A) वह èवयं राƶपित पद का Ĥ×याशी है । 

 (B) वह राÏय का काय[वाहक मÉुयमंğी है । 

 (C) उसे राÏय ǒवधानसभा मɅ बहुमत िसƨ करना बाकȧ है । 

 (D) वह राÏय के उÍच सदन का सदèय है । 
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32. How the Deputy Sarpanch of a Gram Panchayat can be recalled ? 
 (A) By the majority of Gram Sabha 
 (B) By the clear majority of Gram Sabha 
 (C) By the 2/3 majority of Gram Sabha 
 (D) None of these 

 Ēाम पंचायत के उप सरपंच को कैसे Ĥ×यावित[त Ǒकया जा सकता है ? 
 (A) Ēाम सभा के बहुमत से 
 (B) Ēाम सभा के èपƴ बहुमत से 
 (C) Ēाम सभा के 2/3 बहुमत से 
 (D) इनमɅ से कोई नहȣं 

 

33. Which is unmatched in the context of election ? 
 (A) Sarpanch  
 (B) Deputy Sarpanch 
 (C) President of Janpad Panchayat 
 (D) President of Zila Panchayat 
 िनवा[चन के संदभ[ मɅ Èया सुमेिलत नहȣं है ? 
 (A) सरपंच   (B) उप सरपंच 
 (C) जनपद पंचायत अÚय¢ (D) ǔजला पंचायत अÚय¢ 

 

34. What is correct about the Quorum of Gram Sabha ? 
 (i)  Quorum is 1/4 members of Gram Sabha. 
 (ii)  Quorum is 1/10 members of Gram Sabha. 
 (iii)  In Quorum the no. of women should be 1/3. 
 (iv)  In Quorum the no. of women should be 1/4. 
 (v)  For Quorum Deputy Sarpanch is responsible. 
 (vi)  For Quorum Sarpanch and Panch are responsible. 
 (A) (i), (iii), (v)   (B) (i), (iv), (vi) 
 (C) (ii), (iii), (vi)   (D) (ii), (iv), (v) 
 Ēाम सभा कȧ गणपूित[ के ǒवषय मɅ सहȣ Èया है ? 
 (i)  गणपूित[ Ēाम सभा के 1/4 सदèयɉ से होती है । 
 (ii)  गणपूित[ Ēाम सभा के 1/10 सदèयɉ से होती है । 
 (iii)  गणपूित[ मɅ मǑहलाओं कȧ सÉंया 1/3 होनी चाǑहए । 
 (iv)  गणपूित[ मɅ मǑहलाओं कȧ सÉंया 1/4 होनी चाǑहए । 
 (v)  गणपूित[ के िलए उप सरपंच उƣरदायी है । 
 (vi)  गणपूित[ के िलए सरपंच और पंच उƣरदायी हɇ । 
 (A) (i), (iii), (v)   (B) (i), (iv), (vi) 
 (C) (ii), (iii), (vi)   (D) (ii), (iv), (v) 
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35. How a Sarpanch of a Gram Panchayat may be removed ? 
 (i)  By no-confidence motion 
 (ii)  By Recall 
 (iii)  If he fails for Quorum in subsequent 5 meetings of Gram Sabha. 
 (iv)  By Collector 
 (A) (i)   (B) (i), (ii) 
 (C) (i), (ii), (iii)   (D) (i), (ii), (iii), (iv) 
 Ēाम पंचायत के सरपंच को कैसे हटाया जा सकता है ? 
 (i)  अǒवƳास Ĥèताव Ʈारा 
 (ii)  Ĥ×यावत[न Ʈारा 
 (iii)  यǑद वह Ēाम सभा कȧ पाँच लगातार बैठकɉ मɅ गणपूित[ मɅ असफल होता  है । 
 (iv)  ǔजला कलेÈटर Ʈारा 
 (A) (i)   (B) (i), (ii) 
 (C) (i), (ii), (iii)   (D) (i), (ii), (iii), (iv) 

 
36. In the scheduled area who presides over the meetings of Gram Sabha ? 
 (i)  Sarpanch. 
 (ii)  Deputy Sarpanch. 
 (iii)  A person elected by present members of Gram Sabha. 
 (iv)  That person who is from ST category. 
 (v)  That person who is from SC category. 
 (vi)  That person who is not a member of Gram Panchayat. 
 (vii)  That person who is member of Gram Panchayat. 
 (A) (i), (iv), (vii)   (B) (ii), (v), (vi) 
 (C) (iii), (iv), (vi)   (D) (i), (v), (vii) 

 अनुसूिचत ¢ेğ मɅ Ēाम सभा कȧ बैठकɉ कȧ अÚय¢ता कौन करता है ? 
 (i)  सरपंच । 
 (ii)  उप सरपंच । 
 (iii)  Ēाम सभा के उपǔèथत सदèयɉ Ʈारा िनवा[िचत åयǒƠ । 
 (iv)  ऐसा åयǒƠ जो अजजा संवग[ से हो । 
 (v)  ऐसा åयǒƠ जो अजा संवग[ से हो । 
 (vi)  ऐसा åयǒƠ जो Ēाम पंचायत का सदèय न हो । 
 (vii) ऐसा åयǒƠ जो Ēाम पंचायत का सदèय हो । 
 (A) (i), (iv), (vii)   (B) (ii), (v), (vi) 
 (C) (iii), (iv), (vi)   (D) (i), (v), (vii) 
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37. If a difference of opinion was found among the Gram Sabhas of a Gram 
Panchayat, how it shall be resolved ? 

 (A) It shall be resolved by Gram Panchayat. 
 (B) It shall be resolved by Government. 
 (C) It shall be resolved by majority in the joint meeting of Gram Sabhas. 
 (D) It shall be resolved by the Gram Sabha of Gram Panchayat’s 

headquarters. 
 यǑद एक Ēाम पंचायत कȧ Ēाम सभाओ ंके मÚय मतभेद पाया गया तो इसका हल कैसे 

िनकाला जाएगा ? 

 (A) इसका हल Ēाम पंचायत करेगी । 
 (B) इसका हल शासन करेगा । 
 (C) इसका हल Ēाम सभाओ ंकȧ संयुƠ बैठक मɅ बहुमत से होगा । 
 (D) इसका हल Ēाम पंचायत के मÉुयालय कȧ Ēाम सभा करेगी । 

 
38. Which of the following are the features of a notified area committee ? 
 (A) It is constituted for a newly developed town. 
 (B) It is entirely a nominated body. 
 (C) Its power are similar to the powers of municipal council. 
 (D) All of these 

 िनàनिलǔखत मɅ से कौन-सी ǒवशेषताए ँअिधसूिचत ¢ेğ सिमित से सàबंिधत हɇ ? 

 (A) इसका गठन नव ǒवकिसत नगरɉ के िलए Ǒकया जाता   है । 
 (B) यह पूण[त: नािमत िनकाय है । 
 (C) इसकȧ और नगरपािलका पǐरषɮ  कȧ शǒƠयाँ समान हɇ । 
 (D) ये सभी 

 
39. The administrative department of urban bodies in Chhattisgarh state is 
 (A) Corporation Office  
 (B) District Administration 
 (C) Urban Administration and Development Department 
 (D) Institute of Local Government 
 छƣीसगढ़ राÏय मɅ नगरȣय िनकायɉ का Ĥशासकȧय ǒवभाग है 

 (A) िनगम काया[लय   
 (B) ǔजला Ĥशासन 
 (C) नगरȣय Ĥशासन एवं ǒवकास ǒवभाग 
 (D) èथानीय शासन सèंथान 
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40. The establishment year of Raipur municipality is 
 (A) 1956   (B) 1961 
 (C) 1867   (D) 1992 

 रायपुर नगरपािलका का èथापना वष[ है 
 (A) 1956   (B) 1961 
 (C) 1867   (D) 1992 

 
41. How many members are in the Mayor-in-Council ? 
 (A) Mayor and 20% of elected members 
 (B) Mayor and 25% of elected members 
 (C) Mayor and 15% of elected members 
 (D) Mayor and 10% of elected members 
 मेयर-इन-काउंिसल के सदèयɉ कȧ सÉंया Ǒकतनी होती है ? 

 (A) महापौर एवं िनवा[िचत पाष[दɉ का 20% 
 (B) महापौर एवं िनवा[िचत पाष[दɉ का 25% 
 (C) महापौर एवं िनवा[िचत पाष[दɉ का 15% 

 (D) महापौर एवं िनवा[िचत पाष[दɉ का 10% 
 
42. In which urban body the ‘Municipal Account Committee’ is formed ? 
 (A) Municipal Corporation (B) Municipalities 
 (C) Nagar Panchayats  (D) Notified Areas 

 ‘नगरपािलका लेखा सिमित’ का गठन Ǒकस नगरȣय िनकाय मɅ होता है ? 

 (A) नगरपािलका िनगम  (B) नगरपािलकाएँ 
 (C) नगर पंचायतɅ   (D) अिधसूिचत ¢ेğɉ मɅ 
 
43. Who is the Chairman of ‘State Urban Development Agency (SUDA)’ ? 
 (A) Chief Minister  
 (B) Departmental Minister 
 (C) Mayor   
 (D) Chairperson of Municipal Corporation 

 “राÏय शहरȣ ǒवकास अिभकरण” के अÚय¢ कौन होते हɇ ? 

 (A) मÉुयमंğी  

 (B) ǒवभागीय मğंी 
 (C) महापौर  

 (D) नगरपािलका िनगम के सभापित 
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44. Which is the major mineral of Chhattisgarh state from the   followings ? 
 (A) Coal   (B) Tin 
 (C) Granite   (D) Fire Clay 

 छƣीसगढ़ राÏय का Ĥमुख खिनज िनàन मɅ से है : 
 (A) कोयला   (B) Ǒटन 
 (C) Ēेनाइट   (D) फायर Èले 

 

45. In the view of Area of Forest in the country, Chhattisgarh state place is 
 (A) First   (B) Second 
 (C) Third   (D) Fourth 

 देश मɅ वनɉ के ¢ेğफल कȧ Ǻǒƴ से छƣीसगढ़ राÏय का èथान है 
 (A) Ĥथम   (B) ǑƮतीय 
 (C) ततृीय   (D) चतुथ[ 
 

46. Which is the least irrigated district of Chhattisgarh ? 
 (A) Kondagaon   (B) Dantewada 
 (C) Bijapur   (D) Sukama 

 छƣीसगढ़ का सबसे कम िसंिचत ǔजला कौन सा है ? 
 (A) कोÖडागाँव   (B) दÛतेवाड़ा 
 (C) बीजापुर   (D) सुकमा 

 

47. Four identifications of Chhattisgarh state are - Narva, Garua, Ghurua and 
________. 

 (A) Aangan   (B) Khalihan 
 (C) Talab   (D) Bari 
 छƣीसगढ़ के चार िचÛहारȣ हɇ - नरवा, गरवा, घुरवा और ________ 
 (A) आँगन   (B) खिलहान 
 (C) तालाब   (D) बाड़ȣ 

 

48. At what rate per quintal paddy is purchased by Chhattisgarh Government in 
the year 2018-19 ? 

 (A) ` 2,500   (B) ` 2,475 
 (C) ` 2,450   (D) ` 2,425 

 छƣीसगढ़ सरकार ने वष[ 2018-19 मɅ Ĥित ǔÈवंटल Ǒकस दर से धान कȧ खरȣदȣ कȧ    
है ? 

 (A) ` 2,500   (B) ` 2,475 
 (C) ` 2,450   (D) ` 2,425 
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49. First train of phase 1 in east rail corridor project by South-East-Central 
Railways ran between following two stations : 

 (A) Kharsia to Garepalma (B) Kharsia to Dharamjaygarh 
 (C) Kharsia to Korichhapar (D) Kharsia to Hati 
 दǔ¢ण-पूव[ मÚय रेलवे Ʈारा ईèट रेल कॉǐरडोर पǐरयोजना के Ĥथम चरण मɅ पहली Ěेन 

िनàन दो èटेशनɉ के मÚय चलाई गई : 
 (A) खरिसया से गोरपाãमा  (B) खरिसया से धरमजयगढ़ 
 (C) खरिसया से कोरȣछापर  (D) खरिसया से हाटȣ 

 

50. Which specially abled mountaineer from Chhattisgarh has climbed the 
highest mountain peak Kilimanjaro located at Tanzania in Africa ? 

 (A) Banshilal Markam  (B) Chitrasen Sahu 
 (C) Shashikant Kaushik (D) Sumit Kumar 

 छƣीसगढ़ के Ǒकस Ǒदåयांग पव[तारोहȣ ने अĥȧका के तंजािनया ǔèथत सबसे ऊँची पव[त 
चोटȣ Ǒकलीमंजारो पर फतह हािसल कȧ है ? 

 (A) बंशीलाल मरकाम  (B) िचğसेन साहू 
 (C) शिशकाÛत कौिशक  (D) सुमीत कुमार 
 

 
 
 

Librarian 
 

 
51. ‘Libraries as Gateways to Knowledge’ is the title of the document 
 (A) National Information Policy, 1986 
 (B) Information Technology Act, 2000 
 (C) National Knowledge Commission on Libraries, 2007 
 (D) None of these 

 ‘पुˑकालय ǒान के ŮवेशȪार’ के ŝप मŐ (लाइŰेįरज एज गेटवेज टू नॉलेज) िकस दˑावेज का 
शीषŊक है ? 

 (A) राष्टŌ ीय सूचना नीित, 1986 

 (B) सूचना तकनीकी अिधिनयम, 2000 

 (C) राष्टŌ ीय लाइŰेरी ǒान आयोग, 2007 

 (D) इनमŐ से कोई नही ं
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52. Headquarters of IFLA is located in : 
 (A) Paris (B) Washington (C) London (D) The Hague 

 IFLA का मुƥालय İ̾थत है - 
 (A) पेįरस (B) वािशं̑टन (C) लȽन (D) द हेग 

 

53. Who was the first Librarian of National Library (India)? 
 (A) D.B. Krishna Rao  (B) B.S. Kesavan 
 (C) S. Radhakrishnan  (D) Melvil Dewey 

 रा Ō̓ ीय पुˑकालय (भारत) का Ůथम लाइŰेįरयन कौन था ? 
 (A) डी.बी. कृˁा राव   (B) बी.एस. केसवन 
 (C) एस. राधाकृˁन्   (D) मेलिवल डेवी 

 

54. Which Law of Library Science advocate Open Access and Shelf 
Arrangement? 

 (A) First Law (B) Second Law (C) Third Law (D) Fourth Law 

 पुˑकालय िवǒान का कौन सा िनयम सुलभ Ůाİɑ और शेʚ ʩव̾था की वकालत करता है ? 
 (A) Ůथम िनयम (B) िȪतीय िनयम (C) तृतीय िनयम (D) चतुथŊ िनयम 

 

55. Which one is National Documentation Centre in India? 
 कौन सा एक भारत मŐ रा Ō̓ ीय दˑावेजीकरण केȾ है ? 
 (A) FID (B) UNESCO (C) INSDOC (D) NASDOC 
 
56. To make the best use of the library : 
 (a)  Library orientation is essential  
 (b)  Library instruction is essential 
 (c)  Bibliographic instruction is essential 
 (d)  User education is essential 
 Code : 
 (A) (a) and (b) are correct (B) (b) and (c) are correct  
 (C) (a) and (c) are correct (D) (a) to (d) statements are correct 
 “रा Ō̓ ीय ǒान आयोग” (NKC) के बारे मŐ Ɛा सही है ? 

 (i)  इसकी ̾थापना गुजरात सरकार ᅠारा की गई । 
 (ii)  NKC के चैयरमैन : सैम िपũोदा 
 (iii)  NKC का कायŊकाल माचŊ 2012 मŐ पूरा हो गया । 
 (iv)  NKC Ȫारा लाइŰेरी से सɾİɀत Ůावधानो ंकी पूणŊ उपेƗा की गई । 
 कूट : 
 (A) (a) और (b) सही हœ ।  (B) (b) और (c) सही हœ ।  
 (C) (a) और (c) सही हœ ।  (D) (a) से (d) कथन सही हœ । 
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57. CILIP is the new name of: 
 (A) LA (B) LC (C) ALA (D) ILA 

 CILIP िकसका नया नाम है ? 
 (A) LA (B) LC (C) ALA (D) ILA 

 
58. John McFarlane was the first librarian of: 
 (A) Delhi University Library (B) Bombay University Library 
 (C) Imperial Library Calcutta (D) Delhi Public Library 

 जॉन मैकफारलैन Ůथम लाइŰेįरयन थे 

 (A) िदʟी यूिनविसŊटी लाइŰेरी के (B) बॉɾे यूिनविसŊटी लाइŰेरी के 
 (C) इɼीįरयल लाइŰेरी कलकȅा के (D) िदʟी पİɰक लाइŰेरी के 
 

59. The ‘Right to Information Bill’ was enacted by the Parliament of India on 
 (A) 5th May, 2005  (B) 15th June, 2005 
 (C) 12th October, 2005  (D) 22nd June, 2005 

 ‘सूचना का अिधकार िवधेयक’ भारत की संसद Ȫारा कब अिधिनयिमत Šआ ? 
 (A) 5 मई, 2005     (B) 15 जून, 2005 

 (C) 12 अƃूबर, 2005    (D) 22 जून, 2005 

 
60. Research is conducted to : 
 (i)  Generate new knowledge 
 (ii)  Develop a theory  
 (iii)  Develop communication skills 
 (iv)  Re-interpret existing knowledge  
 Code : 
 (A) (ii), (iii) and (iv) are correct (B) (i), (ii) and (iii) are correct  
 (C) (i), (ii) and (iv) are correct (D) (i), (iii) and (iv) are correct 
 शोध िकया जाता है  

 (i)  नया ǒान Ůाɑ करने के िलए 

 (ii)  िसȠांत िवकिसत करने के िलए 

 (iii)  संचार कौशल िवकिसत करने के िलए 

 (iv)  वतŊमान ǒान की पुनʩाŊƥा के िलए 

 कूट : 
 (A) (ii), (iii) और (iv) सही हœ । (B) (i), (ii) और (iii) सही हœ । 
 (C) (i), (ii) और (iv) सही हœ । (D) (i), (iii) और (iv) सही हœ । 
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61. MeSH is the name of a 
 (A) Medical Library  (B) Controlled Vocabulary 
 (C) Online Database  (D) CSIR Unit 
 MeSH िकसका नाम है ? 

 (A) मेिडकल लाइŰेरी का  (B) िनयंिũत शɨावली का 
 (C) ऑनलाइन डेटाबेस का  (D) CSIR यूिनट का 

 

62. ‘Vidyanidhi’  was a project for 
 (A) Institutional Repository 
 (B) Electronic Theses & Dissertations  
 (C) Digital Library of Journals 
 (D) Digital Archive 

 ‘िवȨािनिध’ Ůोजेƃ िकसके िलए था ? 
 (A) सं̾थागत भंडार 
 (B) इलेƃŌ ॉिनक शोध-Ůबɀ और शोध-िनबɀ 
 (C) पिũकाओ ंकी िडजीटल लाइŰेरी 
 (D) िडजीटल पुरालेख 

 

63. What is true about “National Knowledge Commission” ? 
 (i)  It was set up by Government of Gujarat 
 (ii)  Chairman of NKC: Sam Pitroda 
 (iii)  The term of the NKC got over on March 2012 
 (iv)  Provisions related to Libraries are totally ignored by NKC 
 Code : 
 (A) Only (i) and (iii)  (B) Only (ii)  
 (C) Only (iii) and (iv)  (D) All given options are true 

 “रा Ō̓ ीय ǒान आयोग” (NKC) के बारे मŐ Ɛा सही है ? 

 (i)  इसकी ̾थापना गुजरात सरकार ᅠारा की गई । 

 (ii)  NKC के चैयरमैन : सैम िपũोदा 
 (iii)  NKC का कायŊकाल माचŊ 2012 मŐ पूरा हो गया । 

 (iv)  NKC Ȫारा लाइŰेरी से सɾİɀत Ůावधानो ंकी पूणŊ उपेƗा की गई । 

 कूट : 
 (A) केवल (i) और (iii)  (B) केवल (ii)  

 (C) केवल (iii) और (iv)  (D) सभी िवकʙ सही हœ । 
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64. Which sources would you consult to know the “Impact Factor” of Journal 
publications ?  

 (i)  Web of Science  (ii)  Science Direct 
 (iii)  SCOPUS   (iv)  EBSCO 
 Code : 
 (A) (i) and (iv) (B) (ii) and (iii) (C) (i) and (iii) (D) (iii) and (iv) 
 पिũका Ůकाशन के ‘इɼैƃ फैƃर” को जानने के िलए आप िकन ŷोतो ंपर िवमशŊ करŐ गे ?  

 (i)  वेब ऑफ साइɌ   (ii)  साइɌ डायरेƃ 
 (iii)  SCOPUS   (iv)  EBSCO  
 कूट : 
 (A) (i) और (iv) (B) (ii) और (iii) (C) (i) और (iii) (D) (iii) और (iv) 
 
65. The term ‘Exponential growth’ refers to: 
 (A) Linear growth  (B) Normal mode of distribution 
 (C) Geometric Progression (D) Arithmetic Progression 
 ‘चरघातांकी वृİȠ’ पद से ताȋयŊ है – 
 (A) रेखीय वृİȠ   (B) िवतरण की सामाɊ पȠित 
 (C) गुणोȅर ŵेढ़ी   (D) समांतर ŵेढ़ी 
 
66. Which of these is a type of information industry?  
 (A) Media & Television (B) Banking   
 (C) Pharmaceutical  (D) All of these 
 इनमŐ से कौन सूचना उȨोग का एक Ůकार है ? 
 (A) मीिडया और टेलीिवजन  (B) बœिकंग 
 (C) फामाŊ˟ूिटकल   (D) ये सभी 
 
67. ‘Price’ of information is studied under – 
 (A) Information economics (B) Economics of information 
 (C) Scientometrics  (D) Bibliometrics 
 सूचना की ‘कीमत’ का अȯयन इसके अधीन होता है – 
 (A) इɈॉमőशन इकॉनोिमƛ  (B) इकॉनोिमƛ ऑफ इɈॉमőशन 
 (C) साइȴोमेिटŌ ƛ   (D) िबİɰयोमेिटŌ ƛ 
 

68. Reliable and concise new bodies of knowledge is known as_____ 
 (A) Consolidated information (B) Grey information 
 (C) Organised information (D) Useful  information 
 ǒान के िवʷसनीय और संिƗɑ नवीन बॉडीज को जाना जाता है - 
 (A) समेिकत सूचना   (B) Ťे सूचना 
 (C) संगिठत सूचना   (D) उपयोगी सूचना 
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69. What is true about the features of ‘Google Scholar’ ? 
 (i)  It is not free of charge. 
 (ii)  Google Scholar Metrics for ranking. 
 (iii)  Search scholarly literature from one convenient place. 
 (iv)  Help in citing publications and creating a public author profile. 
 Code : 
 (A) only (i), (iii) and (iv) (B) only (i), (ii) and (iv) 
 (C) (i), (ii), (iii) and (iv) (D) only (ii) and (iv) 
 ‘गूगल ˋॉलर’ की िवशेषताओ ंके बारे मŐ Ɛा सही है  ? 

 (i)  यह िनशुʋ नही ंहै । 
 (ii)  गूगल ˋॉलर मेिटŌ ƛ रœ िकंग के िलए है । 
 (iii)  एक सुलभ ̾थान से ˋॉलर की तरह सािहȑ ढँूढ़ता है । 
 (iv)  Ůकाशन उʟेख मŐ और लोक लेखक Ůोफाइल तैयार करने मŐ मदद करता है । 
 कूट : 
 (A) केवल (i), (iii) और (iv) (B) केवल (i), (ii) और (iv) 
 (C) (i), (ii), (iii) और (iv) (D) केवल (ii) और (iv) 

 
70. What to say, how to say logically and symbolically and who should say are 

basic question to be considered when formulating _____. 
 (A) Note (B) Message (C) Report (D) Notice 

 ________ तैयार करते समय, Ɛा कहना है, तािकŊ क और सांकेितक ŝप से कैसे कहना है और 

िकसे कहना चािहए, इन मूल Ůʲो ंका ȯान रखा जाना चािहए । 
 (A) नोट (B) मेसेज (C) įरपोटŊ (D) नोिटस 
 

71. An example of Self-publishing is - 
 (A) Blogs   (B) Digital repositories 
 (C) Software   (D) None of these 

 ˢ-Ůकाशन का उदाहरण है - 
 (A) ɰागस्   (B) िडजीटल भǷार 
 (C) सॉɝवेयर   (D) इनमŐ से कोई नही ं

 

72. Information is 
 (A) Data   (B) Computer output 
 (C) Raw Data   (D) Organized and meaningful Data 

 सूचना है – 
 (A) डाटा   (B) क̱ɗूटर आउटपुट 
 (C) कǄा डाटा   (D) संगिठत और अथŊपूणŊ डाटा 
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73. Terms used to describe today’s information situation are 
 (i)  Information Repackaging (ii)  Information Boom  
 (iii)  Information Flood  (iv)  Information Explosion 
 Code : 
 (A) (ii), (iii) and (iv)  (B) (i), (ii) and (iv) 
 (C) (i), (iii) and (iv)  (D) (i), (ii), (iii) and (iv) 
 वतŊमान सूचना İ̾थित की ʩाƥा मŐ Ůयोग होने वाले पद है : 

 (i)  इɈॉमőशन įरपैकेिजंग    (ii)  इɈॉमőशन बूम 
 (iii)  इɈॉमőशन ɢड   (iv)  इɈॉमőशन एƛɘोजन 
 कूट : 
 (A) (ii), (iii) और (iv)  (B) (i), (ii) और (iv) 
 (C) (i), (iii) और (iv)  (D) (i), (ii), (iii) और (iv) 

 
74. “Marketing is specifically concerned with how transactions are created, 

stimulated, facilitated and valued” said by: 
 (A) Philip Kotler   (B) E.I.L. Breach 
 (C) William Stanton  (D) Paul Mazur 
 “िवपणन िविशʼ ŝप से ʩवसाय कैसे िनिमŊत करना, Ůेįरत करना, आगे बढ़ाना और मूʞांकन 

करना से सɾİɀत है ।” िकसने कहा ? 
 (A) िफिलप कोटलर   (B) ई.आई.एल.  Űीच 
 (C) िविलयम ːेȴन   (D) पॉल मजूर 

 
75. Information is a commodity because it has following properties : 
 (i)  Supply of information is possible but consumers can be surpluses  
 (ii)  Demand of information can be measured  
 (iii)  Cost of information can be determined 
 (iv)  There is a market of information 
 Code : 
 (A) (i), (ii) and (iii) are correct (B) (i), (iii) and (iv) are correct 
 (C) Only (i) and (ii) are correct (D) All are correct 
 सूचना एक वˑु है Ɛोिंक इसमŐ िनɻ गुण होते हœ :  
 (i)  सूचना की आपूितŊ सʁव है लेिकन उपभोƅा आिधƐ हो सकता है ।  
 (ii)  सूचना की माँग को मापा जा सकता है । 
 (iii)  सूचना की लागत िनधाŊįरत की जा सकती है । 
 (iv)  सूचना का बाजार है । 
 कूट : 
 (A) (i), (ii) और (iii) सही हœ । (B) (i), (iii) और (iv) सही हœ । 
 (C) केवल (i) और (ii) सही हœ । (D) सभी सही हœ । 
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76. Patent is a copyright of 

 (A) Productivity criteria (B) Procedure 

 (C) Licence of Production (D) None of these 

 पेटेȴ एक कॉपीराइट है – 

 (A) उȋादकता मापदǷ  (B) ŮिŢया 
 (C) उȋादन का लाइसेɌ  (D) इनमŐ से कोई नही ं
 

77. Shannon and Weaver are associated with  
 (i)  Theories of Management 
 (ii)  Library Software Packages 
 (iii)  Mathematical Theory of Communication 
 (iv)  Communication Models  
 Code : 
 (A) (i), (ii) and (iii)  (B) (i), (ii), (iii) and (iv)  
 (C) (i) and (ii)   (D) (iii) and (iv) 
 शैनन और वीवर सɾİɀत है – 

 (i)  Ůबɀ के िसȠांतो ंसे 

 (ii)  लाइŰेरी सॉɝवेयर पैकेजेस से 

 (iii)  संचार के गिणतीय िसȠांत से 

 (iv)  संचार Ůितमान से 

 कूट : 
 (A) (i), (ii) और (iii)  (B) (i), (ii), (iii) और (iv)  

 (C) (i) और (ii)   (D) (iii) और (iv) 
 

78. Redundancy of information is 
 (A) Unnecessary and should be eliminated 
 (B) Unnecessary but cannot be avoided  
 (C) Necessary and sometimes useful 
 (D) Necessary and always desirable 

 सूचना की अितरेकता है – 
 (A) अनावʴक और हटा दी जानी चािहए । 
 (B) अनावʴक लेिकन टाली नही ंजा सकती । 
 (C) आवʴक और कभी-कभी उपयोगी । 
 (D) आवʴक और हमेशा वांछनीय 
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79. Pay-per-view is an 
 (A) Publishing Tool  (B) Pricing Model 
 (C) Standard   (D) None of these 
 पे-पर-ʩू है – 
 (A) Ůकाशन उपकरण  (B) मूʞ-िनधाŊरण Ůितमान 
 (C) मानक   (D) इनमŐ से कोई नही ं
 
80. International Who’s Who is published from 
 (A) Paris (B) New York (C) Moscow (D) London   
 इȴरनेशनल šज š कहाँ से Ůकािशत होता है ? 
 (A) पेįरस (B) ɊूयॉकŊ  (C) मॉˋो (D) लंदन 
 
81. To find out the etymology of a word;  the correct reference source is : 
 (A) A dictionary   (B) An encyclopaedia 
 (C) A  glossary   (D) A  yearbook 
 िकसी शɨ की ʩुȋिȅ ǒात करने के िलए सही सȽभŊ ŷोत है – 
 (A) िडƕनरी   (B) एनसाइƑोपीिडया 
 (C) Ƹोसरी   (D) ईयर-बुक 

 
82. Which of the following is/are NOT secondary source(s) ? 
 (i)  Encyclopaedia  (ii)  Digest 
 (iii) Thesis   (iv) Textbook 
 Code : 
 (A) Only (iii)   (B) (i), (ii) and (iv) 
 (C) (ii) and (iii)   (D) (i) and (iv) 
 िनɻ मŐ से कौन सा/से िȪतीयक ŷोत नही ंहै/हœ ? 

 (i)   एनसाइƑोपीिडया  (ii)  डाइजेː 
 (iii)  थीिसस   (iv)  टेƜबुक  
 कूट : 
 (A) केवल (iii)   (B) (i), (ii) और (iv) 
 (C) (ii) और (iii)   (D) (i) और (iv) 
 
83. ‘The Intellectual Property Rights’ deals with : 
 (A) Secondary Sources  (B) Primary Sources 
 (C) Tertiary Sources  (D) Secondary and Tertiary Sources 

 ‘बौİȠक सɼदा अिधकार’ िकससे सɾİɀत है  ? 
 (A) िȪतीयक ŷोत   (B) Ůाथिमक ŷोत 
 (C) तृतीयक ŷोत   (D) िȪतीयक और तृतीयक ŷोत 
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84. Which of the following is not an Open Access Database ? 
 (A) DOAJ   (B) ERIC 
 (C) WIKIPEDIA   (D) EMERALD INSIGHT 

 िनɻ मŐ से कौन सा एक ओपन एƛेस डेटाबेस नही ंहै ? 
 (A) DOAJ   
 (B) ऐįरक (ERIC) 
 (C) िवकीपीिडया  
 (D) एमराʒ इनसाईट (EMERALD INSIGHT) 

 
85. ‘Library Literature and Information Science’ is : 
 (A) An abstracting journal 
 (B) A bibliographic database 
 (C) A primary journal  
 (D) A subject list on Library and Information Science 
 ‘लाइŰेरी सािहȑ और सूचना िवǒान’ है – 
 (A) एक सारभूत जनŊल  
 (B) एक Ťंथ-सूची डेटाबेस 
 (C) एक Ůाथिमक जनŊल  
 (D) एक लाइŰेरी और सूचना िवǒान पर िवषय-सूची 
 
86. Which type of source World of Learning is ? 
 (A) Bibliography of periodicals (B) Trade Bibliography 
 (C) Biographical source (D) Directory 

 वʒŊ  ऑफ लिनōग िकस Ůकार का ŷोत है ? 

 (A) पिũकाओ ंकी Ťंथ-सूची  (B) ʩापार Ťंथ-सूची 
 (C) जीवन-सɾɀी ŷोत  (D) डायरेƃरी 

 
87. Library Herald is published from : 
 (A) Kolkata (B) Bangalore (C) Delhi (D) Lucknow 

 लाइŰेरी हेरॅʒ कहाँ से Ůकािशत होता है ? 
 (A) कोलकाता (B) बœगलोर (C) िदʟी (D) लखनऊ 

 
88. Which of the following is not an electronic resource ? 
 (A) e-book   (B) DVD 
 (C) e-journal   (D) Video Cassette 

 िनɻ मŐ से कौन सा एक इलेƃŌ ॉिनक संसाधन नही ंहै ? 
 (A) e-बुक   (B) DVD 
 (C) e-जनŊल   (D) वीिडयो कैसेट 
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89. Concordance means 
 (A) A multi-language dictionary 
 (B) An alphabetic index to a book or an author work 
 (C) An explanation of idioms 
 (D) Annual report 
 शɨानुŢमिणका का अथŊ है – 
 (A) एक बŠभाषा शɨावली  
 (B) वणŊमाला अनुŢम की एक पुˑक अथवा लेखक कायŊ   
 (C) मुहावरो ंकी ʩाƥा 
 (D) वािषŊक įरपोटŊ  
 
90. What is the essential aspect of the Information Services ? 
 (A) Retrieval of Information (B) Storage of Information 
 (C) Collection  of Information (D) Communication of Information 

 सूचना सेवाओ ंका आवʴक पहलू Ɛा है ? 
 (A) सूचना की पुनःŮाİɑ  (B) सूचना का भǷारण 
 (C) सूचना का संŤह   (D) सूचना का संचार 

 
91. Which one is the quality of the best abstract ? 
 (A) Reliability (B) Authority (C) Brevity (D) Applicability 
 उȅम सारांश (Abstract) का गुण कौन सा है ? 
 (A) िवʷसनीयता (B) Ůािधकार (C) संिƗɑता (D) Ůयोजनीयता 
 
92. Time is very important factor between which of the following ? 
 (A) Indexing and Abstracting Services 
 (B) Reference and Documentation Services 
 (C) Short range and long range reference services 
 (D) CAS and SDI Services 
 िनɻ मŐ से िकनके बीच समय अित महȇपूणŊ कारक है ? 
 (A) अनुŢमण और संƗेपण सेवाओ ं
 (B) संदभŊ और दˑावेजन सेवाओ ं
 (C) लघु Ůसार और दीघŊ Ůसार संदभŊ सेवाओ ं
 (D) CAS और SDI सेवाओ ं

 
93. Identify the Science Information System from the following : 
 (A) NASSDOC (B) DEVSIS (C) INIS (D) DESIDOC 

 िनɻ मŐ से िवǒान सूचना तंũ को चुिनए : 
 (A) NASSDOC (B) DEVSIS (C) INIS (D) DESIDOC 
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94. ‘Systematic Indexing’ is associated with : 
 (A) E. J. Coates   (B) J. E. L. Farradane 
 (C) J. Keiser   (D) H. P. Luhn 
 ‘ʩवİ̾थत अनुŢमण’ िकससे सɾİɀत है ? 
 (A) ई.जे. कोटस्     (B) जे.ई.एल. फैराडैन 
 (C) जे. कैसर   (D) एच.पी. लूह्न 

 
95. An entry in an Abstracting Journal consists of 
 (A) Bibliographic citation 
 (B) Annotation 
 (C) An abstract and bibliographic descriptions 
 (D) Bibliographic citation, an abstract and initials of the abstractor 
 संƗेपण जनŊल मŐ Ůिविʼ होती है – 
 (A) ŤȺ-सूची उȠरण की 
 (B) िटɔण की 
 (C) सार और Ťंथ-सूची िववरण की 
 (D) Ťंथ-सूची उȠरण, सार और संƗेपक का आȨाƗरो ंकी 
 
96. The Principle of Canonical Sequence is one of the principles of 
 (A) Facet Sequence  (B) Fundamental Categories 
 (C) Helpful Sequence  (D) Basic laws 
 िविहत अनुŢम का िसȠांत िनɻ का िसȠांत है : 
 (A) पƗ अनुŢम का   (B) मौिलक ŵेणी का 
 (C) सहायक अनुŢम का  (D) मूल िनयम का 

 
97. APUPA pattern is for classification; so as Principle of Osmosis is for: 
 (A) Arrangement   (B) Stock Verification 
 (C) Cataloguing   (D) Reclassification 

 APUPA पैटनŊ िजस Ůकार वगŎकरण के िलए है उसी Ůकार परासरण का िसȠाȶ है 
 (A) ʩव̾था   (B) ːॉक सȑापन 
 (C) सूचीकरण   (D) पुनःवगŎकरण 

 
98. In Colon Classification; _______ facet is the most elusive and difficult to 

identify. 
 (A) Basic (B) Personality (C) Energy (D) Matter 
 कोलन वगŎकरण मŐ _______ पहलू की पहचान करना सवाŊिधक दुŤाŊ˨ और किठन है ।  
 (A) आधार (B) ʩİƅȕ (C) ऊजाŊ (D) पदाथŊ 
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99. Subject arrangement of documents is known as: 
 (A) Filiatory sequence  (B) Facet sequence 
 (C) Helpful Sequence  (D) Alphabetic sequence 

 दˑावेजो ंका िवषय ʩव̾थापन कहलाता है - 
 (A) शाखीय अनुŢम   (B) पƗ अनुŢम 
 (C) सहायक अनुŢम   (D) वणŊमाला अनुŢम 

 
100. Who gave the idea of ‘Decachotomy’ ? 
 (A) Dr. S. R. Ranganathan (B) Melvil Dewey 
 (C) C. A. Cutter     (D) H. E. Bliss 

 ‘डेकाचोटॉमी’ का Ůȑय िकसने िदया ? 
 (A) डॉ. एस.आर. रंगनाथन  (B) मेलिवल डेवी 
 (C) सी.ए. कǥर   (D) एच.ई. ɰीस 

  

101. ‘‘Geophysics’ has been formed as a result of 
 (A) Lamination   (B) Fusion 
 (C) Fission   (D) Agglomeration 

 ‘‘भू-भौितकी’ की उȋिȅ िकसके पįरणामˢŝप Šई ? 
 (A) पटलीभवन   (B) संगलन 
 (C) िवखǷन   (D) ǜालाʳचय 

 

102. ‘Dublin Core Metadata’ consists of 
 (A) 11 elements (B) 13 elements (C) 10 elements (D) 15 elements 

 ‘डबिलन कोर मेटाडाटा’ मŐ होते हœ 
 (A) 11 तȇ (B) 13 तȇ (C) 10 तȇ (D) 15 तȇ 

  

103. ‘XML’ stands for- 
 (A) Xtra Markup Language (B) X-ray Markup Language 
 (C) Extensible  Markup Language (D) None of these 

 ‘XML’ का ताȋयŊ है – 
 (A) एक Ōː ा माकŊ अप लœƹेज  (B) एƛ-रे माकŊ अप लœƹेज 
 (C) एƛटेİɌबल माकŊ अप लœƹेज (D) इनमŐ से कोई नही ं

 

104. ‘e-ISBN’ contains- 
 (A) 11 digits (B) 12 digits (C) 14 digits (D) 13 digits 

 ‘e-ISBN’ मŐ होते हœ – 
 (A) 11 िडिजट (B) 12 िडिजट (C) 14 िडिजट (D) 13 िडिजट 
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105. ‘SGML’ stands for - 
 (A) Super  Generalized Markup Language 
 (B) Standard Generalized Markup Language 
 (C) Stanford General Medical Literature 
 (D) None of these 
 ‘SGML’ का ताȋयŊ है – 
 (A) सुपर जनरलाइǕ माकŊ अप लœƹेज 
 (B) ːैǷडŊ  जनरलाइǕ माकŊ अप लœƹेज 
 (C) ːेनफोडŊ  जनरल मेिडकल िलटरेचर 
 (D) इनमŐ से कोई नही ं

 
106. What is used in the structure of CCF ? 
 (A) ISO 2709   (B) ISO 9000  
 (C) ISO 2000   (D) None of these 
 CCF की संरचना मŐ Ɛा Ůयोग होता है ? 
 (A) ISO 2709   (B) ISO 9000  
 (C) ISO 2000   (D) इनमŐ से कोई नही ं

 
107. Which three distinct entities related to the metadata are used in OAI-PMH ? 
 (A) Header, Metadata and Records 
 (B) Identifier, Request and Response 
 (C) Header, Record and Metadata 
 (D) Resource, Item and Record 
 मेटाडाटा से सɾİɀत कौन से तीन िविशʼ तȇ OAI-PMH मŐ Ůयोग िकए जाते हœ ? 
 (A) हैडर, मेटाडाटा और įरकोडŊस्  
 (B) आइडेİȴफायर, įरƓेː और įर˙ोɌ 
 (C) हैडर, įरकोडŊ  और मेटाडाटा 
 (D) įरसोसŊ, आइटम और įरकोडŊ  
 
108. The GMD in a catalogue entry according to AACR-II revised edition is 

given : 
 (A) After the title proper 
 (B) After the statement of responsibility 
 (C) Before the title 
 (D) Before the statement of responsibility 
 AACR-II संशोिधत संˋरण के अनुसार कैटलॉग Ůिविʼ मŐ GMD दी जाती है – 
 (A) टाईटल Ůोपर के पʮात 
 (B) उȅरदाियȕ के कथन के पʮात 
 (C) टाईटल के पहले 
 (D) उȅरदाियȕ के कथन के पहले 
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109. OCLC Project, MARC Project are the examples of : 
 (A) Co-operative storage of materials 
 (B) Co-operative Acquisition of materials 
 (C) Co-operative processing of material 
 (D) Co-operative sharing of materials 

 OCLC Ůोजेƃ, MARC Ůोजेƃ उदाहरण हœ 
 (A) सामिŤयो ंके सहकारी भǷारण के 
 (B) सामिŤयो ंके सहकारी अजŊन के 
 (C) सामिŤयो ंके सहकारी Ůसंˋरण के 
 (D) सामिŤयो ंके सहकारी साझेदारी के 

 

110. Fermont Rider is known for his _____________ . 
 (A) Subject Classification (B) International Classification 
 (C) Cataloguing   (D) Universal Decimal Classification 

 फरमॉǵ राइडर िकसिलए जाना जाता है ? 
 (A) िवषय वगŎकरण   (B) अȶराŊ Ō̓ ीय वगŎकरण 
 (C) सूचीकरण   (D) सावŊिũक दशमलव वगŎकरण 

 

111. “The main purpose of Book Selection is to provide the right book to the 
right reader at the right time.” Whose quotation is this ? 

 (A) Francis Drury  (B) H. E. Bliss 
 (C) Melvil Dewey  (D) C. A. Cutter 
 ‘पुˑक चयन का मुƥ उȞेʴ सही समय पर सही पाठक को सही पुˑक Ůदान करना है ।” यह 

िकसका उȠरण है ? 

 (A) ůांिसस डś रे (B) एच.ई. ɰीस (C) मेलिवल डेवी (D) सी.ए. कǥर 

 

112. What are the three levels of Management ? 
 (A) First, Second and Third 
 (B) Primary, Secondary and Tertiary 
 (C) Top, Middle and Operational 
 (D) None of these 

 Ůबɀ के तीन ˑर Ɛा हœ ? 

 (A) पहला, दूसरा और तीसरा (B) Ůाथिमक, िȪतीयक और तृतीयक 
 (C) शीषŊ, मȯ और पįरचालनी (D) इनमŐ से कोई नही ं
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113. Which of these is an e-publisher ? 

 (A) Flipkart   (B) Infibeam  

 (C) Amazon   (D) Ebrary 

 इनमŐ से कौन e-पİɰशर है ? 

 (A) İɢपकाटŊ   (B) इİɈिबम  

 (C) अमेजॉन   (D) इŰेरी 

 

114. The University library budget is approved by 

 (A) UGC   (B) Executive Council 

 (C) Library Committee  (D) Academic Council 

 िवʷिवȨालय लाइŰेरी बजट िकसके Ȫारा अनुमोिदत होता है ? 

 (A) िवʷिवȨालय अनुदान आयोग (UGC) (B) कायŊकारी पįरषद् 
 (C) लाइŰेरी सिमित   (D) अकादिमक पįरषद्   

 

115. KARDEX system is devised for keeping 

 (A) Record of Books  (B) Record of Manuscripts  

 (C) Record of Periodicals (D) Record of Maps 

 िकसके रखरखाव  के िलए काडőƛ (KARDEX) Ůणाली का आिवʺार Šआ ? 

 (A) िकताबो ंका įरकोडŊ   (B) पाǷुिलिपयो ंका įरकोडŊ 
 (C) पिũकाओ ंका įरकोडŊ   (D) नƕो ंका įरकोडŊ  
 

116. Fundamental elements of Management is known as 

 (A) POSDCORB (B) PSODCORB (C) POSCDORB (D) POSCORB 

 Ůबɀ के मूल तȇो ंको इससे जाना जाता है – 

 (A) POSDCORB (B) PSODCORB (C) POSCDORB (D) POSCORB 

 

117. Douglas McGregor is known for the _______ 

 (A) Theory X & Theory Y (B) Two Factor Theory 

 (C) Management grid  (D) None of these 

 डगलस मैकŤेगर को इसके िलए जाना जाता है – 

 (A) X िसȠांत और Y िसȠांत (B) िȪ-कारक िसȠांत 

 (C) Ůबंधन िŤड   (D) इनमŐ से कोई नही ं
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118. The Member Secretary of the University Library Committee is : 
 (A) Registrar   (B) Vice Chancellor 
 (C) University Librarian (D) Subject Expert 
 िवʷिवȨालय लाइŰेरी सिमित का सद˟ सिचव होता है – 
 (A) रिज Ōː ार   (B) कुलपित 
 (C) िवʷिवȨालय लाइŰेįरयन (D) िवषय िवशेषǒ 

 

119. Argyris is known for his   _____________. 
 (A) Theory of Motivation (B) X and Y Theory 
 (C) Scientific Management (D) Immaturity / Maturity Theory 

 अगőįरस िकसिलए जाना जाता है ? 
 (A) अिभŮेरणा का िसȠांत  (B) X और Y िसȠांत 
 (C) वैǒािनक Ůबɀ   (D) अपįरपƓता / पįरपƓता िसȠाȶ 

 

120. Major problems of ‘Information Communication Technology’ are 
 (i)  Information overloads 
 (ii)  Information insecurity 
 (iii)  Lack of innovative technologies 
 (iv)  Lack of control over communication 
 Code : 
 (A) (ii) and (iv) are correct (B) (i) and (iv) are correct 
 (C) (i), (ii) and (iv) are correct (D) (i), (ii) and (iii) are correct 
 सूचना संचार तकनीकी की मुƥ सम˟ाएँ हœ : 
 (i)  सूचना अितभार   (ii)  सूचना असुरƗा 
 (iii)  नवीन तकनीको ंका अभाव (iv)  संचार पर िनयंũण का अभाव 

 कूट : 
 (A) (ii) और (iv) सही हœ  (B) (i) और (iv) सही हœ 
 (C) (i), (ii) और (iv) सही हœ (D) (i), (ii) और (iii) सही हœ  
 

121. “Athens login” is used for - 
 (A) Pricing Control  (B) Subscription model 
 (C) Usage analysis  (D) Identity and Access Management 
 “एथेɌ लॉिगन” का Ůयोग िकया जाता है – 
 (A) कीमत िनयंũण   (B) अिभदान Ůितमान 
 (C) Ůयोग िवʶेषण   (D) पहचान एवं Ůवेश Ůबंध 
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122. ‘Nook’  is 
 (A) an e-book reader  (B) an electronic database 
 (C) an ERM software  (D) a publisher 

 ‘नूक’ (Nook) है – 

 (A) e-बुक पाठक   (B) एक इलेƃŌ ॉिनक डेटाबेस 
 (C) एक ERM सॉɝवेयर  (D) एक Ůकाशक 

 

123. World Wide Web was first introduced by 
 (A) Charles Babbage  (B) F.W. Lancaster 
 (C) Ted Nelson   (D) Tim Berners  Lee 

 वʒŊ  वाइड वेब को सवŊŮथम Ůˑुत िकया 
 (A) चाʤŊ बाबेज ने   (B) एफ.डɲू. लœकेːर ने 
 (C) टेड नेʤन ने   (D) टीम बनŊसŊ ली ने 

 

124. Wikis are an example of 
 (A) Web publishing  (B) Network Publishing 
 (C) Digital repositories  (D) None of these 

 िवकीज इसका एक उदाहरण हœ 
 (A) वेब पİɰिशंग   (B) नेटवकŊ  पİɰिशंग 
 (C) िडजीटल įरपोिजटरी  (D) इनमŐ से कोई नही ं

 

125. Which one of the following is not an image/graphic file format ? 
 (A) PNG   (B) GUI  
 (C) GIF   (D) JPEG 

 
 िनɻ मŐ से कौन सा एक इमेज/Ťािफक फाइल फामőट नही ंहै ? 

 (A) PNG   (B) GUI  
 (C) GIF   (D) JPEG 

 

126. Semantic Web is associated with - 
 (A) Web 1.0 (B) Web 2.0 (C) Web 3.0 (D) None of these 

 िसमेİȴक वेब इससे सɾİɀत है – 

 (A) वेब 1.0 (B) वेब 2.0 (C) वेब 3.0 (D) इनमŐ से कोई नही ं
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127. Which from the following are web browsers?  
 (i)  Epic (ii)  Opera (iii) Safari (iv) Chrome 
 Code : 
 (A) (i), (iii) and (iv)  (B) (i), (ii) and (iv) 
 (C) (i), (ii), (iii) and (iv) (D) (ii), (iii) and (iv) 
 िनɻ मŐ से कौन वेब Űाउजर हœ ? 

 (i)  इिपक (ii)  ओपेरा (iii)  सफारी (iv)  Ţोम 

 कूट : 
 (A) (i), (iii) और (iv)  (B) (i), (ii) और (iv) 

 (C) (i), (ii), (iii) और (iv) (D) (ii), (iii) और (iv) 
 

128. The term ‘Cyberspace’ was first used by 
 (A) Huansheng Ning  (B) William Gibson 
 (C) John Postal   (D) William Martin 
 ‘साइबर˙ेस’ पद का Ůयोग सबसे पहले िकसने िकया ? 
 (A) ŠआनसŐग िनंग   (B) िविलयम िगɵन 
 (C) जॉन पोːल   (D) िविलयम मािटŊन 

 

129. Boolean operators are ___________ . 
 (A) Textual representation (B) Computer language 
 (C) Network tool   (D) Searching technique 

 बूिलयन ऑपरेटर हœ 
 (A) पाठ ŮदशŊन (B) क̱ɗूटर भाषा (C) नेटवकŊ  टूल (D) सिचōग तकनीक 

 

130. Which is a digital Repository software ? 
 (A) Greenstone (B) Linux (C) MS Word (D) All of these 

 कौन सा एक िडजीटल įरपोिजटरी सॉɝवेयर है ? 
 (A) Ťीनːोन (B) िलनƛ (C) एमएस वडŊ (D) ये सभी 

 

131. ‘SaaS’ stands for- 
 (A) Service as a Software (B) Software as a Solution 
 (C) Service Software  (D) Software as a Service 

 ‘SaaS’ का ताȋयŊ है – 
 (A) सिवŊस ऐज ए सॉɝवेयर  (B) सॉɝवेयर ऐज ए  सोʞूशन 
 (C) सिवŊस सॉɝवेयर   (D) सॉɝवेयर ऐज ए सिवŊस 
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132. National Nodal Agency for granting ISSN in India is 

 (A) NISCAIR   (B) RRRLF 

 (C) Copyright Office, Govt. of India (D) INFLIBNET Centre 

 भारत मŐ ISSN Ůदान करने वाली रा Ō̓ ीय नोडल ऐजेɌी है – 

 (A) NISCAIR   (B) RRRLF 

 (C) कॉपीराइट कायाŊलय, भारत सरकार (D) इनİɢबनेट केȾ 

 

133. In Libraries, RFID is useful in  

 (i)  Circulation Service   (ii)  Reference Service 

 (iii)  Stock Verification  (iv)  Security of Library Materials 

 Code : 

 (A) only (i) and (ii)  (B) only (i), (iii) and (iv) 

 (C) only (i), (ii) and (iv) (D) (i), (ii), (iii) and (iv) 

 लाइŰेरी मŐ RFID उपयोगी है – 

 (i)  पįरसंचरण सेवा   (ii)  सȽभŊ सेवा 
 (iii)  ːॉक सȑापन   (iv)  लाइŰेरी सामŤी की सुरƗा 
 कूट : 

 (A) केवल (i) और (ii)  (B) केवल (i), (iii) और (iv) 

 (C) केवल (i), (ii) और (iv) (D) (i), (ii), (iii) और (iv) 

 

134. Which from the following is/are true about SOUL 2.0? 

 (i)  RFID Compatible    (ii)  Z39.50 Compatible  

 (iii) Fully Web Based  (iv)  Client – Server Architecture 

 Code : 

 (A) only (i), (ii) and (iii) (B) only (i), (iii) and (iv) 

 (C) (i), (ii), (iii) and (iv) (D) only (ii), (iii) and (iv) 

 SOUL 2.0 के बारे मŐ िनɻ मŐ से कौन सा/से सही है/हœ ? 

 (i)  RFID संगत   (ii)  Z39.50 संगत 

 (iii)  पूणŊतः वेब आधाįरत  (iv)  Ƒाइȴ-सवŊर आिकŊ टेƁर 

 कूट : 

 (A) केवल (i), (ii) और (iii) (B) केवल (i), (iii) और (iv) 

 (C) (i), (ii), (iii) और (iv) (D) केवल (ii), (iii) और (iv) 
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135. NACLIN is sponsored by : 
 (A) INFLIBNET (B) DELNET (C) AGRINET (D) CALIBNET   

 NACLIN को िकसके Ȫारा ŮवितŊत िकया जाता है ? 
 (A) INFLIBNET (B) DELNET (C) AGRINET (D) CALIBNET   
 

136. DESIDOC is documentation centre for: 
 (A) Indigenous Knowledge (B) Defence Science 
 (C) Rural Development (D) Khadi & Village Industries 

 DESIDOC िकसके िलए Ůलेखन केȾ है ? 

 (A) देशज ǒान   (B) रƗा िवǒान 
 (C) Ťामीण िवकास   (D) खादी और Ťाम उȨोग 

 

137. For the measurement of Author’s Productivity which law is implemented? 
 (A) Zipf’s Law   (B) Lotka’s Law 
 (C) Bradford’s Law  (D) Law of Probability 
 लेखक उȋादकता के मापन के िलए कौन सा िनयम लागू होता है ? 
 (A) िज़फ का िनयम   (B) लोटका का िनयम  
 (C) ŰेडफोडŊ  का िनयम  (D) संभाʩता का िनयम 

 

138. In research on ‘Information Needs of Advocates’ a questionnaire is sent to 
every fifth member on the official register of Bar Council would this be : 

 (A) Random sample  (B) A Stratified Sample 
 (C) The Whole Population (D) A purposive Sample 

 ‘अिधवƅाओ ं की सूचना आवʴकता’ पर अनुसंधान मŐ बार कौिंसल के कायाŊलयी रिजːर से 

Ůȑेक पाँचवŐ सद˟ को Ůʲावली भेजी गई, यह होगा – 

 (A) या̊İǅक ŮितदशŊ  (B) ˑįरत ŮितदशŊ 
 (C) समŤ समिʼ   (D) सŮयोजन ŮितदशŊ  
 

139. ZOTERO is a software for : 
 (A) Cataloguing   (B) Reference Management 
 (C) Circulation   (D) Periodical Subscription 
 जोटेरो (ZOTERO) इसके िलए एक सॉɝवेयर है – 

 (A) कैटलॉिगंग   (B) सȽभŊ Ůबɀ  
 (C) िबŢी   (D) पिũका अिभदान 
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140. JCR stands for : 

 (A) Journal Citation Reviews  

 (B) Journal for Chemical Reactions 

 (C) Journal Citation Reports 

 (D) Journal Citation Records    

 JCR का ताȋयŊ है – 

 (A) जनŊल साइटेशन įरʩूज   

 (B) जनŊल फॉर केिमकल įरएƕन 
 (C) जनŊल साइटेशन įरपोटŊस्    

 (D) जनŊल साइटेशन įरकोडŊस् 

 

141. Action research means 

 (A) A longitudinal research 

 (B) A research with socioeconomic objective  

 (C) An applied research 

 (D) A research initiated to solve an immediate problem    

 िŢया अनुसंधान का अथŊ है – 

 (A) एक अनुदैȯŊ अनुसंधान 

 (B) सामािजक-आिथŊक उȞेʴ के साथ एक अनुसंधान 

 (C) एक अनुŮयुƅ अनुसंधान 
 (D) ताǽािलक सम˟ा के समाधान के िलए Ůारʁ एक अनुसंधान 

 

142. Origin of hypothesis lies in 

 (A) Richness of background knowledge 

 (B) Results obtained after data analysis 

 (C) Interpretation of results 

 (D) Data collected during research 

 पįरकʙना का मूल िनिहत होता है – 

 (A) पृʿभूिम ǒान की Ůचुरता मŐ 
 (B) डेटा िवʶेषण से Ůाɑ पįरणाम मŐ 
 (C) पįरणामो ंके िनवŊचन मŐ 
 (D) अनुसंधान के दौरान संŤिहत डेटा मŐ  
 



Library 36 

143. ‘Cranfield Studies’ are an example of 
 (i)  Historical Research (ii)  Case Study 
 (iii) Experimental Research (iv) Survey Research 
 Code : 
 (A) only (ii) and (iii)  (B) only (iii) and (iv) 
 (C) only (iii)   (D) only (iv) 
 ‘Ţेनिफʒ ːडी’ िकसके उदाहरण हœ  ? (i)  ऐितहािसक अनुसंधान 
 (ii)  केस-ːडी   (iii)  Ůायोिगक अनुसंधान 
 (iv)  सवőƗण अनुसंधान 
 कूट : 
 (A) केवल (ii) और (iii)  (B) केवल (iii) और (iv) 
 (C) केवल (iii)   (D) केवल (iv) 

 

144. The term ETD is first time discussed by 
 (A) Mark Zuckerberg  (B) Tim Berners Lee 
 (C) Nick Altair   (D) Larry Page 
 पद ETD की Ůथम बार चचाŊ की गई 
 (A) माकŊ  जुकेरबगŊ Ȫारा  (B) टीम बनŊसŊ ली Ȫारा 
 (C) िनक अʐेर Ȫारा   (D) लैरी पेज Ȫारा 

 

145. Impact Factor is calculated on the basis of : 
 (i)  Length of the articles 
 (ii)  Number of Citations 
 (iii)  Number of article sold 
 (iv) Number of award received by article 
 Code : 
 (A) Only (i) and (iv)  (B) Only (ii) 
 (C) only (iii) and (iv)  (D) Only (iv) 
 इɼैƃ फैƃर की गणना िकसके आधार पर की जाती है ?  
 (i)  आिटŊकल की लɾाई  (ii)  उȠरणो ंकी संƥा 
 (iii)  िवŢीत आिटŊकल की संƥा (iv)  आिटŊकल को Ůाɑ अवाडŊ  की संƥा 
 कूट : 
 (A) केवल (i) और (iv)  (B) केवल (ii) 
 (C) केवल (iii) और (iv)  (D) केवल (iv) 

 

146. “Joomla” is used for - 
 (A) Creation of Digital Repositories (B) Electronic Publishing Software 
 (C) Content Management Software (D) All of these 
 “जूमला” इसके िलए Ůयुƅ होता है – 
 (A) िडजीटल įरपोिजटरी िनमाŊण (B) इलेƃŌ ॉिनक पİɰिशंग सॉɝवेयर 
 (C) कȴेȴ मैनेजमेȴ सॉɝवेयर (D) ये सभी 
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147. Mean, Median and Mode are : 

 (A) Measures of control tendency (B) Measures of central tendency 

 (C) Measures of deviation (D) Ways of sampling 

 माȯ, माİȯका और बŠलक हœ : 

 (A) िनयंũण Ůवृिȅ के मापक  (B) केȾीय Ůवृिȅ के मापक 

 (C) िवचलन के मापक  (D) ŮितदशŊन के तरीके 

 

148. Arrange the following research steps according to the sequence of their 
occurrence : 

 (i) Formulation of hypothesis of research 

 (ii) Designing of data and analysis plan 

 (iii) Selection of data gathering method 

 (iv) Report writing 

 Code : 

 िनɻ अनुसंधान चरणो ंको उनके उȋɄ होने के Ţम मŐ ʩवİ̾थत कीिजए : 

 (i)  अनुसंधान पįरकʙना का िनमाŊण 

 (ii)  डेटा और िवʶेषण योजना की िडजाइन 

 (iii)  डेटा संŤहण पȠित का चयन 

 (iv)  įरपोटŊ लेखन 

 कूट : 

 (A) a - iii, b - ii, c - i, d - iv (B) a - i, b - iii, c - ii, d - iv 

 (C) a - iii, b - i, c - iv, d - ii (D) a - ii, b - iv, c - i, d - iii 

 

149. Which of the following tests can be used for hypothesis testing ? 

 (A) F – test     (B) Chi – square test 

 (C) t – test   (D) All of these 

 पįरकʙना परीƗण के िलए िनɻ मŐ से िकस परीƗण का उपयोग िकया जा सकता है ? 

 (A) F – परीƗण   (B) काई – ˍेयर परीƗण 

 (C) t – परीƗण   (D) ये सभी 
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150. Which of the following are not styles of citation ? 
 (i)  Anglo American Cataloguing Rules 
 (ii)  MLA Handbook for Writers of Research Papers 
 (iii) Chicago Manual of Style 
 (iv) Little Science Big Science Codes 
 Code : 
 (A) (i) and (ii) are correct (B) (iii) and (iv) are correct 
 (C) (i) and (iv) are correct (D) (ii) and (iii) are correct 
 िनɻ मŐ से कौन सी उȠरण की शैली नही ंहै ? 

 (i)  एंƸो अमरीकन कैटलॉिगंग ŝʤ 

 (ii)  MLA हैǷबुक फॉर राइटसŊ ऑफ įरसचŊ पेपसŊ 
 (iii)  िशकागो मैɊुअल ऑफ ːाइल 

 (iv)  िलिटल साइɌ िबग साइɌ कोडस् 

 कूट : 
 (A) (i) और (ii) सही हœ  (B) (iii) और (iv) सही हœ 
 (C) (i) और (iv) सही हœ  (D) (ii) और (iii) सही हœ 

______________ 


